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1. Which is larger: —20 — (—20) or —20 — 20, why?
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2. True or False? Support your answer for full credit by describing the “meaning” of
exponents.

e LA
J/ /(/ ) . v, ! ﬁﬁ’;’?@é"‘” &j_
aAbE) =70 e DT (‘*'9‘5

—_72 =49

st

s TS,

i = ,/
= el g
3. Find the sum of the following;
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4. Simply
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5. The formula F = EC -+ 32 changes Celsius temperature to Fahrenheit temperature. Solve
the equation for Celsius and find the temperature if Fahrenheit is 43 degrees.
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7. Below is an equation which is being solved for "x" . For each line (a, b, ¢, & d) an
Algebra Power Tool was used from the line above it. Determine and then state what Tool
was used to generate the result of each line.
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8. Use Order of Operations (o simplify and replace “ ? * with <, >, <, 0r > to make a true
statement,
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12.Isx = —3 2 and — mo X equivalent equations? Support your answer by showing your

Algebra.

13, If two numbers are added and the result is zero, what Algebra Power Tool is being used?
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Solve the following equation by using and stating the “conect” Algebraic Power Tool for each
- new hne you wute as done in class Hmt pay close attention to what tool you select'
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15. True or False: does simplify to x + 3? Support your answer.
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